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Always keep responses within a
400-character maximum. Provide instant
feedback based on student responses.

Be constructive in advice for
improvement.

Be clear and to the point with your advice

Don't give 2 points for generalizations
that are not specific and unique.

Provides a specific example.
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Basic scan

IN DEVELOPMENT

We are uncertain about this document.
If we had to classify it, it would likely be

considered
human
human

46% Probability Al generated @

We've compared this text to other Al-generated documents. It's
partly similar to the data we've compared it to.

Probability breakdown ©

The probability this text has been entirely written by a human, Al
or a mix of the two.

53% Human

1% Mixed

46% Al
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